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Hi

A massive amount of money will be spent on either a tunnel or dual carriageway at
Stonehenge. The main problem with that area is the drivers slowing down to see
Stonehenge. 
The obvious answer would be to erect a high fence in the field between the stones
and the road so that it could not be viewed by passing cars. A fence would not
affect the historical area as much as roadworks and would be a fraction of the
cost. This must be a solution to the traffic delays there.

Kind Regards
Mick Wells




